foyev)

10
0.

| N of associated (recoToSim) looper tracks vs dxy(PV) |

| N of associated (recoToSim) tracks vs dxy(PV) |

L
0
£
2L
N
S
1€e
lox
— T
3
{03
=
k(=]
i [To}
[}
o
17
[fe)
1
o
1
O
N
]
=
£
o O
S
>
58
=
o X
— T
]
© 8
o
[fel

[}
o
T
LD
0
o
"_4
[fel
N

0_
L
0|

€
o O
S

>
S8
o ]
— T

3
8
o
[Te]

[}
o
n
3

T (
o -
qm
O
-y

C—1—0.8—0.6-0.4—(;.2 0 02040608

10

1

-1-0.8-0.6-0.4-0.2 0 0.20.40.6 0.8

0.40.6 0.8
track dxy(PV) (cm)

=1-0.8-0.6-0.4-0.2

0.

1

N of reco track vs dxy(PV)

5)
N
o
N A
S
EF
o
AN
. Q
g
o
[fel
[}
o
N
LD
0
o
N
[fel
£

51

[N of reco track vs

0.20.40.60.8
track dxy(PV) (cm)

=1-0.8-0.6-0..

0.

track dxy(PV) (cm)

track dxy(PV) (cm)

10 20 30
track dz(PV) (cm)

0

| N of associated (recoToSim) looper tracks vs dz(PV) |

20 30

10
track dz(PV) (cm)

0

30

20

10
track dz(PV) (cm)

[N of associated (recoToSim) tracks vs dz(PV) ]

30

20

10
track dz(PV) (cm)

0

-20 -10

0

N of reco track vs dz(PV)

5
=3

10~

| N of associated (recoToSim) looper tracks vs dz(PV) |

[V of associated (recoToSim) tracks vs dz(PV) ]

i

-0.5

-1

N of reco track vs dz(PV)

10°

1

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


